WORKSHEET FOR CHARACTERISTICS OF LIVING THINGS

I. Definitions-Define each word, give an example,  and draw and label a diagram (do not cut and paste):

1. Cell

2. Tissue

3. Organ

4. Organ System

5. Organism

6. Unicellular

7. Multi-cellular

8. Cell specialization

9. Cell differentiation

10. Sexual reproduction

11. Asexual reproduction

12. Species

13. Zygote

14. Heterotroph

15. Consumer

16. Autotroph

17. Producer

18. Photosynthesis

19. Cell respiration

20. Growth 

21. Development

22. Response

23. Stimulus

24. Homeostasis

25. Adaptation

26. Heredity

27. Gene, DNA, Chromosome

II. Questions:

1. How are growing and developing different?

2. What characteristics of living things does a cell have? Explain your answer.

3. Explain how a home heating system models a homeostatic mechanism.

4. Explain the difference between a stimulus and a response? Give an example of each.

5. Why is energy required for living things? 

6. How do living things obtain energy?

7. How are evolution and reproduction related?

8. How is energy and homeostasis related in living organisms?

9. Compare sexual and asexual reproduction (Venn diagram).

10. What happens if an organism’s homeostasis is disrupted and not restored?

11. Try to think of a nonliving thing that satisfies each characteristic of living things. Does any nonliving thing have all the characteristics of life? 

12. Must every organism reproduce to be considered a living thing? Explain your answer.

13. If a living thing does not obtain energy, describe what an organism will be unable to do and the eventual outcome.

14. What molecule contains the hereditary information and can be passed from parent to offspring?

15. Explain molecular and cellular organization? What is required?

16. What two mechanisms create variation in a population?

III. Scenarios:

1. For each example below write which characteristic of life is represented?


a. An amoeba divides in half to form two individuals.   
_________________________________


b. A deer hears a sound and runs. ______________________________________


c. A grasshopper eats a plant, a bird eats the grasshopper, and a cat eats the bird.

 
  ______________________________________________________


d. Cells containing the same active genes arrange themselves to work together to 

 
    form muscle tissue. ________________________________________


e. An egg turns into a larva, which turns into a pupa, which turns into an adult. 


 _________________________________________________


f. A grandmother, her daughter and granddaughter all had sons with hemophilia

.

 
 ________________________________________________


g. The light brown color of a sand spider blends in with the sand. 


 
   
  
______________________________________________________________

2. One year there were woodpeckers with short beaks, and woodpeckers with long beaks. The bugs the woodpeckers fed on lived deep in the bark of the trees. 















a. Which woodpeckers would be most likely to survive to reproduce? Why?
_________________________ 

b. Which trait in terms of beak size is most likely to be passed on to the next          generation? Explain why.
__________________________________________________________________

c. Over many years, how do you think the original woodpecker population would adapt to an environment where bugs lived deep in the bark of trees?

3. True or False (Based on scenario #2)

a. __________ The short beak woodpeckers would grow long beaks.

b. __________ All individual woodpeckers would grow long beaks.

c. __________ The woodpeckers with long beaks would be more likely to survive and reproduce.

d. __________The wood peckers with short beaks would be less likely to survive and reproduce.

e. __________ The gene for long beaks will more likely be passed on to next generation than the gene for small beaks.

f. _________ Over time, the population of woodpeckers would have long beaks.

g. _________ Individuals don’t or can’t adapt.

h. __________ Individual can adapt.

i. __________ Populations adapt.
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